HRP 261, Homework 6: Due Wednesday March 7 in class

The datasets for this problem can be downloaded from: www.stanford.edu/~kcobb/courses/hrp261 
It is already in SAS format.
Please show your SAS code for each question (cut and paste from SAS).

1. The lowbw dataset:
The goal of this study was to identify risk factors associated with giving birth to a low birth weight baby (weighing less than 2500 grams). This was a matched case-control study that included 29 low birth weight cases and 3 matched controls for each case; controls were matched to the case on maternal age.

Data Dictionary:

        Variable                                              


Abbreviation

------------------------------------------------------------------------------------------------------

        Stratum Number                                         
 
STRATUM

        Observation Type (1 = Case, 2,3,4 = Controls)          
OBS 

        Age of the Mother in Years                             
 
AGE

        Low Birth Weight (0 = Birth Weight ge 2500g,           
 LOW

                          l = Birth Weight < 2500g)

        Weight in Pounds at the Last Menstrual Period           
LWT

        Smoking Status During Pregnancy (1 = Yes, 0 = No)       
SMOKE

        History of Hypertension (1 = Yes, 0 = No)               

HT

        Presence of Uterine Irritability (1 = Yes, 0 = No)      
UI

        History of Premature Labor (0 = None, 1 = Yes)          
PTD

-----------------------------------------------------------------------------------------------------

a. Examine all the variables. Do you notice any obvious errors?  If so, fix the errors using your best guess for what the values should be.

b. Report unadjusted odds ratios (and 95% confidence intervals) for all predictors of interest (note that some of the variables above are not predictors). Round to two significant digits.

c. Report adjusted odds ratios from a single logistic regression model that includes all variables in (b) where the p-value was <.10.

d. Which of the predictor variables from (c) are significantly associated with having a history of premature labor?  Use a single logistic regression to answer this question.
e. What are the best predictors of low birth weight pregnancy among women who do not have a history of premature labor? 
f. What are your conclusions? Is “history of premature labor” a confounder in the traditional sense?















